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CHEM STRY MARKING SCHE ME

DELH -2013
SET-56 12
Q no. | Answers Mar ks
1 Frenkel Defect 1
2 4- br omo- 4- et hyl pent- 2-ene 1
3 Mond Process/ \apour phase refinng nethod 1
4 Hydr ogen bondi ng 1
(CH)sN< CH NH <(CH)2NH 1
6 The first ionisation enthalpy of X is nearlysame as that of oxygen nolecule/ Q 1
7 CH CH OH or ethand is for ned 1
8 CH; COCH, CH d)CH or structure for m 1
9 (1) CH CH OH CH; oge) CH COCH;
1
(or by any aher correct sutable net hod)
(if)
OH
@ + 3B ——
1
10
B H
(i) CH-CH,-O-H + H —> EII:E—CII._,_—'{_'.J—J[ Yo
(-:i H |
(ii) CH,CH, —0: + CH—-CH.— {_} —}CH_.CH;U— CH,CH, + H,O |%
H J H
1
(iii) CH,CH, @:'E_J CH,CH,— CH,CH,-O-CH,CH, + II
H
11 In o wtype emulsion, al acts as dspersed phase and water acts as dispersion nedium Yo+ Y2
whereas in wotype water acts as dispersed phase and ail acts as dispersion nedium
Ex o w: nmilk vanishing cceam(or any a her one correct exanple)
wa butter, cdd cream(or any aher one correct exanple) Yot Y2
1
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12 ATh =K m Y
TB-T° =052 Kkg mol't x 18¢ x 1
180 gnol™*  1kg s
Tp -373 15 K =0.052K Y
Ty, =373 202K 1
13
A =xlC 72
An =0025 Scm'* "
Q20 nol L*
An =125 Scrd mol ™ .
(deduct Y2 mark for wong or no unit)
14 Dspersed phase Dspersion Mdium
(1) Snoke Solid Gas 1
(i) Mlk Liqud Liquid 1
OR
14 Lyophilic sds are sd vent attracti ng sds whereas Lyophobic sds are Sol vent repelling Yot Yo
sds
Lyophohic sds can be easily coagu ated 1
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15 .
(i)
PCl, — 5 PCL, +Cl, 1
(ii)
4R PG heat , 3HPQ +PH 1
(Full marks may be givenif equationisnot bal anced)
16
(a) Qu because in +1 oxidation state it has stable 3d'® confi guration Yo + Y
(b) M?*, V}*: because of the presence of unpaired el ectrons in 3d orhital. Yo+ Yo
(if onlyone ionis nentioned deduct ¥ nark)
17 (a) ZnS preferentia wetting of sul phide ore by ail / affinity of su phide ore for ail.
(b) Silicareacts wth FeOi npurity and renove it inthe for mof slag (FeS Q) /silicaacts | %2 + %
as aflux and re noves the i npurityinthe for mof slag /
or equation
FeO+ S Q (flux . FeS Q(slag) 1
18 () Duetoits symnetrical structure, p-isomer forns nore conpact structure/ fits better in
the crystal latice
(b) Becauseitisaracemc mxure/ does nat ratate the plane paarised light / net ratation of
the mxtureis zera 1+1
19 The cell reaction: Fe(s) + 2H" (ag) — Fe** (ag) + H(9g)
(0]
Een = 044 V
Ner nst equati on
0 2+ 1
Ecell = Beir - 0059 log [ Fe™']
2 [H+]2
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Een =044 V- 0059 log (0001 M
2 (1M

=044 V- 0059 log(10°)
2

=044 V+0.0885 V

Yo

Yo

When K SQ is dissdvedin water, ions are produced
Total nunber of ions produced =3

1=3

n=1CRT =i XnXRxT

\

=0 5285V 1
(deduct Y2 nark for wong or no unit)
20 (1) Due toinconplete filling of d-orhitals, transition metals show variabl e oxidati on
states.
(i)  Because of Lanthanoid Contraction
(iii)  Because of their abilityto show multiple/ variable ox dation states. 1x3=3
OR
20 (i) @,Q% +6F®" + 14H 20 + 6F* + THO
i) 200, +2H > @,G% + HO
iii) 2MQ +5GQ% +16H > 2M?" +10CQ +8HO e
X 3=
(Accept only bal anced equati on)
21 (a) p-type seniconductor
(b) Ferromagnetism
(c) I mpurity defect / Gation vacancy defect
1x3=3
22

Yo

Yo
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n=3x 25x10°g x 1 x Q0821 LatmK"' nol*x 298 K 1
174g mlt 2L
3 1
n=527x10"am
(deduct Y2 nark for wong or no unit)
23 (1) Syrene G H CH=CH Yo+ Y2
(i1) Ehylenegl ycd and Terephthalic acid
Y+ Y
HOH,C - CH,OH +HOOC—/_)— COOH
(iii) Tetrafl uor oet hene CF,=CF; Vet e
24 (a) Sodi um Benzoate
(b) To i npart artiseptic properties
(c) Tranquilizers 1x3=3
25 0] Sonali: Goncerned for the society, socially active and hel pful to a hers. 1
Rrincipal: Grring commanding and serious about the welfare of students. 1
(or any at her suitable val ues)
(i)  Mtamns Band C Yot Yo
26 (i) AGHCN B=G H COOH C=G H CONH, 3LV
(i) A=G H N BEGHN" a C=G H- OH Yx3=1 %
27. (i) lonizationisonerism
(if) Qptical Isonerism
(i1i) Goordination Isonerism 1x3=3
28 €)]
(i) Resonating structures of carboxylateion are nore stable than phenoxi de ion struct ures.
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28

(if)—ve charge is dspersing ontwo el ectronegati ve oxygens in carboxyl ate ion whereas on
one oxygen in phenoxi de ion

()
2 H
1) Ch-CO CH --------------- ->ChH-CH-CH
conc. HJ
i)
O
! CHO
o O
Pd - BaSO,
Benzoyl chloride Benzaldehyde
dl. NaOH A
iii) CH- CHO --------------- ->CH-CH OH -CH - CHO-------- ->CH-CH=CH CHO
-HO
(or by any ather correct sutabl e met hod)
OR

(a)
(i)

H .

| s
H—C—OH + II—L’_‘,//

oK

H
(if)
Br- CH COOH

1+1

1x3=3
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(i)

O,N

1x3=3
CHO

(i) Ehanal and Propanal : Ehanal g ves yellow ppt of 1odofor n{ CH 3)on addition of
Na OH/ I, whereas Propanal does nat gvethistest.
(or any a her sutabl e test)

(b)

1+1
(ii) Benzoic acid and Phenal : Add neutral Feds to bath phend gives purple/ videt
col ouration whereas Benzoic acid does nat gvethistest o/ Add NaHCG; to bath
Benzoic acid wll g ve brisk effervescence whereas phenol does nat g ve this test.

(or any a her sutabl e test)

29
(a)

(i) rae= K A* [

(i) Rate wll increase 9times of the actual rate of reaction
(iii) Rate will increase 8times of the actual rate of reaction 1x3=3

(b)
k=2303 log[ A] iz
t [A

k = _230310g 100
40nin 70

k= 2303 x 0155=000892mn"* %
40

‘2 0693 e
k

Yy, 0693  nin
Q 00892

t,= T77.7mn 7
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29 (a)

t 9905 =2 303 |0gm
k 1

t 909, = 2 303 |Ogm
k 10

on comnparision
t 9996 =log 100
T 90 |Og 10

Hence tgg o, = 2 tgg op
(or sdved by any ather correct sutade nethod)

Ya

Y2

Ya

Y

(b)

() %
£y

(i)

(b
Sope =-Ea
2 303R !

1

-4250K = - Ea

2303 x8314JK" nmol?

1

Ea= 81375 J nol™* or 81.375 kJ nol™

30 (i) Because of snaller size of Fatom/ shorter bond length the electron —electron repul sion

anongthe lone pairsis greater in F, than d;

(ii) Due to hydrogen bondingin NH.
1+1
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(iii)

1x3=3

OR

(a) (i) Because of its lowsdubilityin b ood
(i) Because of its highest eectronegatiwity:. 1x3=3

30 (iii) Because O Osingle bond is weaker than S-Ssing e bond

(b)
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(if)
)| &
s [
o= \\ e ¥ ':ls )
‘ol{ 3 '_\'(V-l
"o’ ‘!\‘9
1+1
Sh. SKMinjd D (Ms) Sangeeta Bhatia
Prd. RD Shuk a M. KM Abdd Raheem
Or. K N Uppadhya M. D A Mshra
M. Rakesh Dhawan M. Deshbir Sngh
Ms. Neeru Sof a M. Akhleshwar Nishra
M. Mrendra S ngh
10
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